TH7EE

H

HE

BREIXESEFR 7HA1TEFE 6A26H(K)iEH

FOo®R T =

1

w

1 2B EEZE (~72) |

K

v

2 ERHEA (R R FEH)

2 ERHEA (R R FEH)

24 R 585 (LHR)

H | B | >

[CHR) 14— A-BFEFELTS

=

(CER] EMIEXHICIIGRERGFASTRUHERESR (F2)

.;l(_

SCHEHR

1EZCADREEEHATEERE (LHR)

SEFEEE 3 — (LHR)

H | B | >

=

BIEFRRSIUTAT (5,68%K)

.;l‘_

FUAEB AN TR AR (BRI T 18)

RERX KER

TE

20

21

A |BnH

22

VS

(BEEERE 900~] [EHIRESE

HamEER(BA)

23

.;l‘_

24

$GRSIE N

25

26

TE

27

m

28| A

29

30

FE(BEXEHFERIR 14.00~16:30)

31




